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% Set EXPAND mode %

TRGEXPD: -28

PWREXPD: 63

NUMNUM: DENDEN: DENNUM: BASEXP: EXPBAS: 303

NUMDEN: 0s
FUNCTION NORMALIZE (LEX1, %Local% LEX2, LEX3), % Get the smallest one of %
LEX3: LEX2: LEX1, % the cyclic permutations %
LOOP % of LEX1. %
BLOCK
WHEN ORDERED (LEX3, LEX2), LEX2: LEX3 EXIT,
ENDBLOCK,

LEX3: APPEND(REST(LEX3>, LIST(FIRST(LEX3))),
WHEN LEX1 = LEX3, EXIT,

R R R RN

ENDLOOP,
LEX2,
ENDFUN2
FUNCTION CONTAIN (N, %Local% EX1, LEX4 %Global LEX1, LEX2, LEX3%),
LOOP % Search the first N in LEX3.
WHEN ATOM (LEX3>, 0 EXIT, % ’ N is not found.
WHEN ABS (EX1: POP (LEX3>) = N, % N is found.
LOOP % Search the nearest N—-1 after the first N before second N.
WHEN ATOM (LEX3), PUSH (EX1, LEX2>, 1 EXIT, % 2nd N isn’t
WHEN ABS (FIRST (LEX3>) = N, % 2-nd N is found before N-1.
PUSH (EX1, LEX2>, LEX1: APPEND (LEX3, LEX1>, 2 EXIT,
WHEN ABS (FIRST (LEX3)) =N -1, % N-1 is found. %
PUSH (EX1, LEX2),
LOOP % Search 2-nd N. %
WHEN ABS (EX1: POP (LEX3)) = N, % 2-nd N is found. %

LEX1: APPEND (LEX3, LEX1>, LEX3: FALSE,
LOOP
WHEN ATOM (LEX4>, PUSH (EX1, LEX1>, 2 EXIT,
WHEN ABS (FIRST (LEX4>)> =N - 1,
LEX3: REVERSE(LEX4), PUSH(EX1,LEXD,
LENGTH(LEX3> +2 EXIT,
PUSH (POP (LEX4), LEXD
ENDLOOP EXIT,
PUSH (EX1, LEX4),
WHEN ATOM (LEX3>, LEX1: REVERSE (LEX4, LEX1), 1 EXIT
ENDLOOP EXIT,
PUSH (POP (LEX3)>, LEX2)
ENDLOOP EXIT,
PUSH (EX1, LEX2)
ENDLOOP
ENDFUNS

FUNCTION LP (N, LEX1),
WHEN CHECK (N, LEX1), JONESO (N, NORMALIZE (REDUCTION(LEX1))>> EXIT,
PRINTLINE (" "Invalid data™)

ENDFUN$
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INCTION JONESO (N, LEX3, %Local% LEX1, LEX2, EX1, EX2, EX3, ANS),
M: N,
LOOP
WHEN ANS,  EXIT,
WHEN ZERO (N), 1 EXIT,
WHEN ZERO (EX1: CONTAIN M),
JONESO (N — 1, REVERSE (LEX2, LEX1))%(-x — y) EXIT,
BLOCK
WHEN EX1 = 1,
N: N -1, M: M - 1, LEX3: REVERSE (REST (LEX2), LEX1),
LEX2: LEX1: FALSE EXIT,
WHEN EX1 = 2,
WHEN FIRST (LEX1) = FIRST (LEX2),
¥l EX3: COMPRESS (NORMALIZE (REDUCTION (REVERSE (LEX2, LEX1)))),
% 2 WHEN NOT EX3 = (ANS: EVAL(EX3)), EXIT,
BLOCK
WHEN FIRST (LEX1) > O,
ANS:
JONESO (N, REVERSE (REST (LEX2), REST (LEX1)))% (=y/x)
+ JONESO (N, REVERSE (REST(LEX2), LEX1))*(-1/x) EXIT,
ANS: JONESO (N, REVERSE (REST (LEX2), REST(LEX1)))*(-x/y)
+ JONESO (N, REVERSE (REST (LEX2), LEX1))*(-1/y)
ENDBLOCK,
A3 ASSIGN (EX3, ANS) EXIT,
. LEX3: REVERSE (REST (LEX2), REST(LEX1>), LEX2: LEX1: FALSE EXIT,
WHEN EX1 = 3,
PUSH (FIRST (LEX3), LEX1),
WHEN FIRST(LEX2) % FIRST(PUSH(POP(LEX1),LEX2)) > 0,
EX1: SIGN(POP(LEX1))*(M — 1), PUSH (POP (LEX2), LEX1),
PUSH (POP (LEX2), LEX1), PUSH (EX1, LEX1), M: N,
LEX3: REVERSE (LEX2, LEX1), LEX2: LEX1: FALSE EXIT,
WHEN FIRST(LEX1) x FIRST(PUSH(POP (LEX2),LEX1)) > O,
EX1: SIGN(POP(LEX2))%(M - 1>, PUSH (POP (LEX1), LEX2),
PUSH (POP (LEX1), LEX2), PUSH (EX1l, LEX1), M: N,
LEX3: REVERSE (LEX2, LEX1), LEX2: LEX1: FALSE EXIT,
%1l EX3: COMPRESS (NORMALIZE (REDUCTION (REVERSE (LEX2, LEX1)))),
Y2 WHEN NOT EX3=(ANS: EVAL (EX3)), EXIT,
PUSH (-POP (LEX1), LEX1),
BLOCK
WHEN FIRST (LEX2) < O,
ANS: JONESO (N, REVERSE (LEXZ2, REST (LEX1)))*(~1/%)
+ JONESO (N, REVERSE (LEX2, LEX1))>*(-y/x) EXIT,
ANS: JONESO (N, REVERSE (LEX2, REST (LEX1)))*(-1/y)
+ JONESO (N, REVERSE (LEX2, LEX1))*(-x/y)
ENDBLOCK,

gt3 ASSIGN (EX3, ANS) EXIT,
M: M -1
ENDBLOCK
ENDLOQOP
JFUNg
ICTION CHECK (N, LEX1)>, % If LEX1 contains an element %
LOOP % whose absolute value is %
WHEN ATOM (LEX1) EXIT, ; % greater than N, then FALSE, %
WHEN ABS (POP (LEX1>)> > N, FALSE EXIT % else TRUE %
ENDLOOP
JFUNS
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FUNCTION REDUCTION (LEX1, %Local% LEX2), % Change the word LEXi %
LOCOP % to its reduced word %
WHEN ATOM (LEX1)>, LEX1: REVERSE (LEX2) EXIT, % -1 %

LOOP % u. g.8 .V ==> u.v %

WHEN NOT FIRST (PUSH (POP (LEX1>, LEX2)) = -FIRST (LEX1), EXIT,
POP (LEX1), POP (LEX2,
WHEN ATOM (LEX2). EXIT,
WHEN ATOM (LEX1> EXIT,

ENDLOOP
ENDLOOP % -1 %
LOOP % g.W. 8 —> w %

WHEN ATOM (LEX1>, EXIT,
WHEN ATOM (REST (LEX1>) EXIT,
LEX2: LEX1,
LOOP
WHEN ATOM (RREST (LEX2>)>, EXIT,
POP (LEX2) '
ENDLOOP,
WHEN NOT (FIRST (LEX1) = -FIRST (REST (LEX2)>) EXIT,
POP (LEX1), REPLACER (LEX2, FALSE)
ENDLOOP,
LEX1
ENDFUNg

FUNCTION SIGN ),
WHEN X > 0, 1 EXIT,
-1

ENDFUNS$

RDS (3



